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/**
 * @author Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior Edwar Saliba Júnior
 */
public class public class public class public class BufferNaoSincronizado implements Buffer { implements Buffer { implements Buffer { implements Buffer { implements Buffer { implements Buffer {
    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.    private int buffer = -1;  // Variável compartilhada para armazendamento.
    
    @Override    @Override    @Override
    public void     public void     public void     public void     public void set(int value){(int value){(int value){(int value){(int value){(int value){
        buffer = value;        buffer = value;        buffer = value;        buffer = value;        buffer = value;        buffer = value;        buffer = value;
        System.        System.        System.out.printf("\nProdutor escreveu....: \t\t  %d", value);  %d", value);  %d", value);  %d", value);  %d", value);  %d", value);  %d", value);
    }
    
    @Override    @Override    @Override
    public int     public int     public int     public int     public int get(){
        System.        System.        System.out.printf("\nConsumidor leu.......: \t\t  %d", buffer);  %d", buffer);  %d", buffer);  %d", buffer);  %d", buffer);  %d", buffer);  %d", buffer);
        return(buffer);        return(buffer);        return(buffer);        return(buffer);        return(buffer);        return(buffer);
    }
}
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